CASBEELBIZH+HERIEHDRERERITBE

WICBEE-IZarA MERA

KT ROZERICIRRRERG OBMEEIASL TS,

WALNLEEE_THHETE

CASBEE [5 5 20165

B & =B B ST 5 | E A R 2
W1 THERRERIE X SR | DHEHE
1.1 B e
(=E7S) XEEEELERICREHE LT3N =NIEE 2| s 2.1|=msm o| 5\ R e
IRILF— k=22 b NA0r-G=kopilk
INR 3.0 0.02
1.2 BRAIRILF—DFA
(@AVh) XEEFEEBRICEHRLTIESD 40 100 |wi|zrox— 2l BT —FIm
rTSAEDRA
INET| 4.0 0.07
1.3 JEATLOEMEEL
(@Avh) XEEFRERICEHLGEEN. O 50 100 |wi|zxixe— 3l 27 Lo SH=EE
2fELEDHREA DR A
INET[ 5.0 0.33
14 ZBEATLDOMENER
(=P S XEEEBELHRICREHEL T2 IRILF— 4|ZhEEER £E5EELUN DT 4a1|'ZAYLY
IRILF— 4|3hEeER EE5EEUNDOFEE 42| EAEEAH
IRIILF— A|ZhEMIER SEFEDE a1|E=R)Y
IRLF— 4|3 ErER EE5FEDFHE 42| EAEEEH
INR 25 0.13
15 ER-ITUTILRE
QAU XERFREMRISEAL TS0 O 4.0 010 |w=|&®m-<7u7L | 1[k&EEES 1.1|@oK
EKERORA 3.0 011 [w|&m-<7u70 | 1|xaREE 12|FkRIA- #HASEORNA | 1|KkRALRTLBAOEE
3.0 0.05 |[wre|&E-=7U7L | 1|KEERE 12| FIKFIR-HHKEOFIA | 2|#HkERNRIRTLRAOER
2.0 0.08 [re|&E-=FUTIL | 2|kBEHEROERBLE |2.1|FHEREO5H
3.0 0.15 |[Re|&E-<TUTIL | 2|kBEnEEosRSLR (22| RFRERFSOREER
3.0 0.15 |re|&E-=FUTIL | 2|kEErEROEREEIR |2.3[BEHBEEEUS 1oL HORR
3.0 0.15 |wre|&E-=TUTIL | 2|emsuamommEsm |2.4|ssmamicsts0s o Ltognm
2.0 0.08 |[re|&E-=vTFUTIL | 2|kEanEEoERSLR |25saTeassobEREN K
5.0 0.15 [Re|&E-<TUTIL | 2|kBEMEROERSLIR (2.6|8H0BHATELE EADKRES
INET] 3.3 0.32
1.6 2479 A40)LCO2#EHZE
(arvh) XEEFEEBRCEHLTTIESL 40 100 |ro|stsesiizs 1|erEmEi~0mE
LEDEREADFAICKYEREETOCO2FHES
Al
INET| 4.0 0.13
1.1 ERGR BR 1L %4 58 | 0D 3 £ D 5F 4 39 0.69
W2 [E—F7ASURRRIDHEE
2.1 REREDMEE
(Arvh)  XEEFREBRICREL TS, 20 052 |ao3|=smts@m) | 1]|EmBEoRLLEIH
3.0 0.26 |Q3|=5IEEE (BuhR) | 3|t 7 AT ~DEE|3.2| Bt RERIRE DM L
2.0 0.22 |-re|ZithstIRtE 2|t BB~ DR E 22| RBBREELORE
INET|] 2.3 0.97
2.2 RBEEEHIH
QAvh)  OKEERREMRICERHL TS, 1.0 1.00 [wro|Buttstamss 2| BB A DS 23[I 12T~ DB | 3|ZBEFME
INET] 1.0 0.03
2.TE—FP A7V R 5K 1 D HELE D LA 2.2 0.22
W3 [REMIEXIRIDHE
3.1 MHRAMDRELE
QAR RERSREMR-ERLTTZE, 30 | 050 [oo|y—rczmme | olmmu-mmn 2B RE-HEHE | 1|[HEEEPOCDAID
SHEM . NEM ., BRIFRE SOV TH RO ® LM EE +—E R ke 2|t Pt - (B A 21 |HE- RE-HIE- IR 2| I BRI B
o H—EXtgE 2|t -5 2.2| BB & - B D1t FH R 3K 1| SR A4 F D it FAESK
5.0 0.09 |Q2|y—ERMEE 2|t 1E 8RN 2.2| &R &, - BDAF DTt FA4E %1 2|ShEEME L P M DRI L BRI
40 0.05 |Q2|¥—EXxitae 2|t At {E 5B 2.2| B0 & - B M D FAESL |xERRLLFHOEH L ERR
3.0 0.05 |az2|v—Exits: 2| R - 1S 4E 22|58 5 - S M OO A E S 4| Z=RBRES VL OEHLEMR
5.0 0.09 |Q2|¥—ERMEE 2|t R - 15 4B 2.2| 8B - BB O A EE %k 5|28 e KRE O EHF L EMIE
3.0 0.09 |[oz|v—ExitsE 2|t P - {5 4B 22|80 - WM O FAEHK 6| T ERHBBOEH LB
INET| 34 0.67
32 EimDEHM
(AAUR) XEETOEE LFRICEEL-FEEREH LTS, 30 020 |oz2|v—Exitse 3| strste - EEmp 33|mEnE LM 1|zpmen=mn
3.0 020 |Q2|r—EXxitsE 3| - BT 33| EIEDEHME 2|4 EHEKE DEFHE
3.0 0.10 |Q2|y—EXitHE 3|3 IG - T 33| EIEDERHM | ESEMRDERE
3.0 0.10 |Q2|—ExtAE 3|3 BT 33| EEDEHME 4| BIERBRDOEHE
3.0 0.20 |Q2|—EXxitAEE 3|3t - BT 33|l DEHMH 5|5 imtkar D EHME
3.0 0.20 |[Q2|v—E=xfHE 3|t B 33|BBOEHMN 6|/ ST YT RR—RADHER
INET] 3.0 0.33
ST EFan xR 1D HEHE D FHE 3.3 0.10
BESREHO#KRTY (LFEIER) 3.5




